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Terms: Sn2* and -3zy

Coefficient in Sxyz*
Terms: 1x and £*
Coefficient of x and coefficient of x” is 1.

Terms: 42y, 42y7 and 2

Coefficientin 4x°y” is 4, coefficient of —4x*y*z* is ~4 and coefficient of z*
38
Term:

3.-pg.qr and —p
Coefficient of ~pq is

coefficient of gr is 1 and coefficient of ~rp is =1

Terms:

Enefﬁclen(of% is % coeficientaf % is % and coefficient of —xy is =1

Terms: 03a,-0.6ab and 0.5b

Coefficient of 03a is 0.3, coefficient of ~0.6ab is ~0.6 and coefficient of
0.5bis05.
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Answer 2:
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Since x+ contains two terms. Therefore

is binomial

Since 1000 contains one terms. Therefore it is monomial.

Since x-+.x° + '+ x* contains four terms. Therefore it is a polynomial and
itdoes not fit in above three categories.

Since 7+ y+5x contains three terms. Therefore itis trinomial

Since 2y-3* contains two terms. Therefore itis binomial.

Since 2y~-3y*+4)” contains three terms. Therefore it is trinomial.

Since 5x-4y+3zxy contains three terms. Therefore it s trinomial.

Since 4x-152" contains two terms. Therefore it is binos
Since ab+bc+cd+da contains four terms. Therefore
and it does not fit in above three categories.

Since pgr contains one terms. Therefore it is monomial.

al.
is a polynomial

Since p’q+ pq’ contains two terms. Therefore it is binomial.
ince 2p+2q contains two terms. Therefore it is binomial.
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(iii) 2p°q* ~3pq+4,5+7pg-3p°¢" (W)F +m',m’ +n’, "+ 2m-+ 2mm + 2nl

Fam'

2p’q’-3pq+4 e
3 + n
30" +7pg+5 o i
o e + 2m +2mn + 2l
DRy 2fpqr 207+ 2" + 208 + 2l + 2 + 2]

Hence the sum is —p’q* +4pg+9.  Hence the sumiis 2(1* +m® + n® +Im +mn + nl)
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Answer 3:
[0} ab-be.bc~ca,ca-ab () a-bsabb-c+bec-a+ac
a-b-ab

+b  =cabe
-a 4 +ac
[0 +0+ab+0+bc+ac]

Hence the sumis 0. Hence the sum is ab+be +ac.
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12a-9ab+5b-3
4a-Tab+3b+12

£ _(+) ()
Ra=2ab+2-13

5p’q-2pq’ +5pg-11g-3p+18
4p'q+5pg* ~3pg+Tq ~8p-10
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P'q=1pq’ +8pg=18g+5p+28|

(b)

Tay=Tye+ S+ 1087





